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e Please check that this question paper contains 12 printed pages.
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QT 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 J97 & [HERT 3% 398 qrgd R 1 §

(i) ¥¥7 &I 1~ 5 97 16 — 20 3fad TFHRIHE F97 &, 5780 F9% #7 1 3% & |
§9HT Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) %7 &I 6- 8 3K 21 - 23 TFHIHF J97 8, [0 J89% & 3 3% & /
Jedh &1 I GIHTIT: 60 Ieq] & 37fer 787 17 =iy |

(v)  TP7 G&IT9 - 11 37K 24 - 26 Y} TFHIHS J97 8, 15770 T39% & 4 3% & |
Jedh &1 I GIHTIT: 70 Ieq] & 37fer 781 17 =iisq |

(vi) ¥ G&IT 12-15 3R 27- 80 3 ITIcHS 397 8, 577 39% & 6 3%
g | Ye9% &7 I G 100 Isq] & 37ferw 787 817 =iisyq |

(vii) I GIET TIT FEIIHF &1 TNRT TIT IIEYT FT &1 T Ioq FH7 3 SIFld
&7 few S Tifw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii) Question Nos. 1 -5 and 16 — 20 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 6 -8 and 21 - 23 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 9 — 11 and 24 - 26 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Question Nos. 12 - 15 and 27 - 30 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

SR g <hl gftamT ST | 1

Define indifference curve.

Teh faIshdl sl SR Shiud WX <his I9Td 757 Bl (Fe foered gfo) 1
(31) ot ufeenfirar &

(%) kiR ®

(@)  UmThRIcHe Siqaifiar

(3) Sk =eft H

A seller cannot influence the market price under (Choose the correct
alternative)

(a)  Perfect competition

(b)  Monopoly

(c) Monopolistic competition
(d)  All of the above

o o 0

Teh &g ! AT % SR | iy Wi Iwhed IO AT A1 8 96 39 HHfeTiad
IEERRGHACEIERCIE I 1
(31) % 1 Hd

(%) g I AEn

(@) TuF A4ty

(3) 3w =t

Any statement about demand for a good is considered complete only
when the following is/are mentioned in it (Choose the correct
alternative) :

(a)  Price of the good

(b)  Quantity of the good
(c) Period of time

(d)  All of the above
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4.  ThIUhNIcH IfGAET <hl his Teh fa=igar sdmsu | 1

State any one feature of monopolistic competition.

5. = fafy gra ws a%g 1 Oi @ Scg 39 feafd ® e A @ 99 A (T

fored gfu) 1
(37) a&g i hmHa TRt 7, 9 39 W =T 961 8
¥) &g ht FHHd Tret B, O 39 W = wed

()
(|) axg i hmd iRt ], @ 39 W S I€1 @l 3
(3) 9% ! hHd gl 8, ql 39 T AT T2l 3

Demand for a good is termed inelastic through the expenditure approach
when if (Choose the correct alternative)

(a)  Price of the good falls, expenditure on it rises

(b)  Price of the good falls, expenditure on it falls

(c) Price of the good falls, expenditure on it remains unchanged

(d)  Price of the good rises, expenditure on it falls

6. TH g% &l W H glg R FN-AGT # g 9 9g HINT | 3
YT
‘ToTe 8¢’ 3R ‘aole T o 31 TR | 3

Distinguish between ‘increase in demand’ and ‘increase in quantity
demanded’ of a good.

OR
Explain the meaning of ‘Budget set’ and ‘Budget line’.

7.  “forgeh ToT Icamed U bl gHET hl sare IS | 3

Explain the problem of “for whom to produce”.

8.  3cUTed HHTeHT HHT 1 31 3T 3Tkl fomivamd sqmsu | 3

Give the meaning and characteristics of production possibility frontier.
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9. SR gfd i g T | ATl S hiHd e hl SATEAT T, [eeh

SR g H qiEdE &l 9 & | 4
AuaT

e had Ueh AT <hl RIS <hl AT QI8 STdl & 3T 37 ANTEI ol &R

@ 1T 7, df HH7d 3cd1g 3T Fel Icd1g T T SAGgR ZM 2 FdTST | 4

Define market supply. Explain the factor ‘input prices’ that can cause a
change in supply.
OR

Give the behaviour of marginal product and total product as more and
more units of only one input are employed while keeping other inputs as
constant.

10. Ui gfc=ifirar st “aTeiR < SR # Ui 99 fomivar shi smen i | 4

Explain “perfect knowledge about the markets” feature of perfect
competition.

11. TUh HEAIcHS 3e@W hl TgEAl 9 BEHH A gfaeamq e s 31
HHATST | 4

Explain with the help of a numerical example, the meaning of
diminishing marginal rate of substitution.

12, IO STTYR 3R 31U STeHTfUhR & offe 37X Sdisy, | STeTeR i “waf

% o= R Fvar fosman i smen W HiT | 6
arera

T dTfereR! ST Wl | wi iy R qfd enfue % 31df wmemsy | 3k

I hIAd T TG 1 SATEAT HIT | 6

Distinguish between perfect oligopoly and imperfect oligopoly. Also
explain the “interdependence between the firms” feature of oligopoly.

OR

Explain the meaning of excess demand and excess supply with the help
of a schedule. Explain their effect on equilibrium price.
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q TfCTehT Sl A hITIT
3cdTed R 3ia Hiura SIE ]
(31EAT) | &M (F) | uiEdt | @ra (%) | fER
A (%) A (%)

0 30

1 25 30

2 78

3 23 10

4 23

5 150 6

Complete the following table :
Output Total | Average | Marginal | Average
(units) | Cost (¥) | Variable | Cost (%) Fixed
Cost (%) Cost (%)

0 30

1 25 30

2 78

3 23 10

4 23

5 150 6

6
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14. T=faRea arfeest & 3cdTgd 1 98 TR A1 hifee o8 W 3cd1geh dqaq o
B (Hura @rra TR v quiiea fafer s s fife) | o1 3w % fag
Eu RIS 6

3cqTeH (3hTEaT) 1 2 3 4 5

$A U (ATHE) () | 16 | 30 | 42 | 52 | 60

Fe AN (T) 14 | 27 | 39 | 49 | 61

From the following table find out the level of output at which the
producer will be in equilibrium (use marginal cost and marginal revenue
approach). Give reasons for your answer.

Output (units) 1 2 3 4 5

Total Revenue (3) 16 30 42 52 60

Total Cost (%) 14 27 39 49 61

15. 9 T a%] sl hHd T 10 Ui $H1E T Fgaht T 12 fd 318 Bidt 7, Al STeh!
HITAET 20 UiiSd A B ST g | SRl W I HiFd A" B IR
Hifu | afe 3R Fwd T 10 9fd 3HE U F@R T 13 9id SHE | A1,
3Heh! AIM-AET | foha Wfcera ftaa gem 2 6
When the price of a good rises from ¥ 10 per unit to ¥ 12 per unit, its

quantity demanded falls by 20 percent. Calculate its price elasticity of
demand. How much would be the percentage change in its quantity

demanded, if the price rises from ¥ 10 per unit to ¥ 13 per unit ?
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SECTION B

16.  HHIG IUHAT Ygfa i FiEmT €T | 1
Define marginal propensity to consume.

17. AR S5 i 9T €T | 1

Define Government budget.

18. <X g1 & HougTd i &1 379 7 ? 1

What is meant by depreciation of domestic currency ?

19. @i SweT # it § (TE foehew gfu) 1
() &=d @i TET SR Frafe ST
(¥) w=d @rar SHE R FTe] @ral SHIS
(|) =T @rar SHE AR FEry S
(3) @i wehr s S
Demand deposits include (Choose the correct alternative)
(a)  Saving account deposits and fixed deposits
(b)  Saving account deposits and current account deposits

(c) Current account deposits and fixed deposits
(d)  All types of deposits

20. Ife Hora S yafa Hui s=d va @ sifus ?, O U 1 ged (WE

foehe giHm) 1
(31) 29 Af=s g

(§) 2% %A &M

(@) 2% SIS B

(8) 5% SR BT

If the marginal propensity to consume is greater than marginal
propensity to save, the value of the multiplier will be (Choose the correct
alternative)

(a)  greater than 2

(b)  less than 2

(c) equal to 2

(d equalto5b
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21. 3T % TshI¥ YaT8 <hl AT I | 3

Explain the circular flow of income.

22.  TcIY HU N YT HU H Ue HIfTT | I3k 1 Tk I AU | 3

Distinguish between direct taxes and indirect taxes. Give an example of
each.

23. 9% fafmg Jurmelt & st=aTa oI aTell “Grafd @9 S § HieArs SHET 6l
gHHATSU | 3

HAAAT
o1 & “fafoma o1 qreaw” & Ty | 3
Explain “difficulty in storing wealth” problem faced in the barter system
of exchange.

OR

Explain the “medium of exchange” function of money.

24, foyewen #§ oo foRaT @M # W S5 HY UgEH @ Hehdl @ ?
qaARe | 4

Explain how government budget can be helpful in bringing economic
stabilization in the economy.

25. Hol¥ Sh o “dehl B Sk I <hl SATEAT HIfSTT | 4
e
IS denl g grg uior <61 gfshan <1 samen i | 4

Explain the “bankers’ bank” function of the central bank.

OR

Explain the process of credit creation by commercial banks.
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26. T AYFIEY Hgod H 7 | FHfcfaa STl & €HTd = Ygfd o1 IiehaH
I 4

() A =10,000

(¥) T&ETIE 399 = 500

(@) 39T =T = 8,000

An economy is in equilibrium. From the following data, calculate the
marginal propensity to save :

(a) Income = 10,000

(b)  Autonomous consumption = 500

(c) Consumption expenditure = 8,000

27. TSU U IUHNT 5k & F=d 5 AT hid &g [o1C T dTel HeH! hl TR T4
Sifsre | [Tt w1 T= il | 6

Given a consumption curve, outline the steps required to be taken in
deriving a saving curve from it. Use diagram.

Fig:  [AElREd 97 Hac FIRET GAETdEl & 1670 397 G891 27 % € W E

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 27.

TS T |qe i &l dehfedsh 314 Saigy | Al Tefedawen aged | 4 &1,

FAT B ! FUTSHT Bt 8 2 A0S | 6
Give two alternative conditions of national income equilibrium. Explain
what is likely to happen, if the economy is not in equilibrium.
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28.

29.

58/2

Tod Jig &y grr TP 1 &1 oTehad Hd 99 Sdl S Tt dragrEn
=l =TT hifY |

YT

w1 fFfeifaa ot yra i T e o wmftrer feRm STom 2 St 3 % foe
<h [T éliém |

(1) wrg fifsal = fochta ggmar

(@) 9ra ¥ fagefht < 6K wmaEnst g SIfia A

(|) WRA H ALeh qaTaTE H SRR WRAT 1 aad

Explain the precautions that are taken while estimating national
income by value added method.

OR

Will the following be included in the national income of India ? Give
reasons for your answer.

(a)  Financial assistance to flood victims
(b)  Profits earned by the branches of a foreign bank in India

(c) Salaries of Indians working in the American Embassy in India

(31) IR eI W Taa T 3o, qon () T TP TSI T 6
qﬁa»—cf:raﬁﬁq:

(T #sl 4)
() TRl < fafsa e 8,000
(i) HoIBE 200
(i) @™ 1,000
(iv) Tortmm 600
v) =N 700
(vi) SRHETIT ST qTisrfies 3,000
(vii) et eracaer 500
(viii) foemm =t frae e o 60
(ix) Traa f=fa (-) 50
(x) Togun = faa = e 20
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Calculate the (a) Net National Product at market price, and (b) Gross

National Disposable Income :

(¥ in crores)

(1) Mixed income of self-employed 8,000
(11) Depreciation 200
(iii)  Profit 1,000
(iv) Rent 600
(v)  Interest 700
(vi) Compensation of employees 3,000
(vii) Net indirect taxes 500
(viii) Net factor income to abroad 60
(ix) Net exports (=) 50
(x)  Net current transfers to abroad 20

30. TAH Hge i@l o (31) e @Al IR GSd @rar & s, 997 (9) @A
(T Tl 3T TuTIeH 7q |iel % sft" 9g i | 6
Distinguish (a) between current account and capital account, and

(b) between autonomous transactions and accommodating transactions
of balance of payments account.

58/2 12
https://www.evidyarthi.in





